O

oooon

000000 (Pick’s theorem) 000189900 0000000000000 0OOOODO (Georg Alexander
Pick) D0OD00O0ODOOO0OO0OOODOOOUOODOOOODOOOOODOOOODODOODODOODOODODO
doddooboooboooouooooboooooo

E I
cooood S=I+§—1

oooOoSOoO0o0oOo0o0oOooo0oOo0/o0ooUo0ooUo0DooEODDOOOODODOOOOD
ooooooo

[C0] O00O0O000000000DO0O000000DO00O0O00DO0O0O0DOO0OOOOODOOOD
000300000000 3000010 (A)(B)boboooooooo

O1

00 (A)D00O00O0O0O0O0D0D300000 SO

1
S:mn—ﬁ{am—i—bn—i—(n—a)(m—b)}
— (mn — ab)
=5(mn—a
O000oo0oooD I00ooo

I:(m+1)(n+1)—%{(a—&—1)(m—|—1)+(b+1)(n+1)+(n—a—|—1)(m—b+ )}

1
—§(mn —ab) — 3

00000000000000000000O0 (B)Dooooooo

S :%nb —a(b—m) — %{am +(n—a)(b—m)}

:i(mn — ab)

1/3



O00oooOoo Iooooo

I:%@+lﬂn+1)7%Ka+DUn+U%%nfa+1thm+1ﬂ—a@fnﬂ
1

zi(mn —ab) — B

00000000000000000

0000000000000000000 20000000000000000000000000000
0000000000000000000000000000000000000000000000000
00 S1,8,8 11,11, E1,F, E00000O00O0OO0O0OOOO0 KOOOOO

S=51+5;
E
Slzll—l—?l—l

E
Se=I+—2—1

2
E E
DS:h+b+—%}£—2 (1)

I=L+L+K-2
E=FE+FEy—2k+2

E By + By — 2K +2
I+5-1=h+L+K-2+ LB 2y

2
FEi1+FE
=Lt L+ =" =2 (2)

(1),(2)0 0000000000000 00O0000D0000D0O0O0O0O0O0000O0OO0o0oOooOOoOooOO
god

o2

0000000000000 10000 1000000000000 10000000000000 2 A)0
E
10000000000 b00obobo0oobOoboooobOobooobobDooUobObUobOobooo §|:|DD

1
oooo §DDDDDDDDDDDDDDDDD 2B O00O00OO0OODOOOOODOOOOD (C)oOO
ooooooooboboobooooooooooooobobobobOoboobOobDOobOobooOD -100
1
gobo0ooooodoOooOoboooOoooOobooOobOOoOooOoOobOoOonoOoonon iDDDDDDDDDDD

2/3



o0o0Ol100000000C000O0C0O0O0O0COO0O0OO00 2r 0000000000000 -10000O0
oo

goooooooooo soobooooooOoOoOOOOO0OOOOOOOOOOOOOOOOOOOOOOO
goboooobooooooooobooooboooobooobooooooooooboooooDooag

0000000000000 D000 (Georg Alexander Pick)

OO0O0OC0OO0O0O0O0O0OO18Y0 80U 1000oooooooooDDOODOODOOO1942
og70226000000000000000000000D000DOO0O00O00O0O0O00O0O
000 l11oooopooooo 4000000000000 000ODOODOODOOOOO
18750 16 00000000000 0DOO0ODO0OODODOO0O8YO0ODDOO0ODOOd
0000000000000 0oOO00O0DO0O0O0O0oO18sUIOODOOO (20
0oo0oooooogoooooooooooooooODOoOoO0OoooDooDOoOO
0000000000184 000 18/ 000000000 ooooooooooog
g0ooooooooCoOoOoU0UoUooooooooOoOoUUUoooooooooOooo
0000o0ooooooooogoer000000DoDOoDoO0DoD0ooooooooooag
000000000000 oooooooD 1YWUUOoOooo goooooooooooooooOoOoOo
000000000000 main reticular lines’ 00 O O O 'reticular points’ 00 000000000000
000000o000ooooo1969 0 Steinhaus O Mathematical Snapshots 1 000000000000
00oo0ooouoooooooooooog

0000000000000 0O00000000000 German University of Prague 00000000
g0ooU00oo0oU0oOoU0ooU00o0oUDooOU00oOOoUOooOO 100000000 OOooDoOOO
00000000000 German University of Prague 10000 1911000 191300 30000000
0000000000000 ooooooooooooooooooooooooooon
0000000000000 00000000 oooooooooooooooDooOn
gooooooooooooo

1927 0 0 German University of Prague 0 00 0000000000000 O0O0OO0OOOOOOOOOO
000000oO0o0o0o0ooooooooooooooooooooDoooO19380 30 12000000000
00ooopooooo0oooopDooo19380 90oooooooooooooooooooooooooo
0000000000000 0000oooooooooooooooooooon
0000000000019390 30 40000000000000000000

gooooO00oO0O00oO0O0o0UO0U00UU0UUUUUUUUOUUOUDOODUOoOoOOooOoOooOoog

19410 110 2400000000000000000000D00000D00ODO0ODOOO0OOODOODOOO0OOd
0000000000000 ooooooooooooooooooooon
pgootbdddddoooooooobobbbobbobbobbbobbb0ddddiououoUo o
00 144,0000000000000 400 1000000000000 60% 000000000000O0O0O
000000000000 19420 70 B30000D00D0D0D0D0D0O0OO0 200000000000 8200

3/3



